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(S-2852 - Dr. DUI'<H1t - Quiz 4
Spring 2014, Week 6

1. (2 points) In addition to "empty," what are the methods that are part of a pure stack interface?

2. (l point) What do the acronyms LIFO and FIFO stand for?
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3. (3 points) Describe how a queue differs from a stack, using the terms LIFO and FIFO

appropriately.

ti f<PM}.m. fiFO U~I 4.4, C[ k rr~
(i M 4. LIFO~ !.JlP a~.{ '1'?4,

- 71. ~.! c:i& v.-' ."~r'4"""

4. (2 points) Explain the difference between the "add" and "offer" methods of the pure queue

interface. (Hint: Under normal circumstances, they have identical behavior.)
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S. (2 points) An ArrayUst contains 42 alphabetized. lowercase words. The word you're searching

for is at index 10. How many calls (initial and recursive) of a recursive binary search method will

be required to locate you word? Show your work.
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